ACHIEVER & ENTHUSIAST COURSE

TARGET : PRE-MEDICAL 2013 | Doy
MAJOR TEST # 02

ALLEN NEET-UG DATE : 26 - 03 - 2013
SYLLABUS - 02
ANSWER KEY
Q. 2 3 4 5 6 7 8 9 (10 (11|12 |13 |14 |15 |16 |17 | 18 | 19 | 20
A 2 4 1 1 1 3 4 3 4 2 2 1 1 3 4 2 1 2 4 1
Q | 2122|2324 |25(26 |27 (28|29 (30|31|32|33]|34|35]|36(37]38](39]40
A 3 1 3 1 3 4 3 2 2 3 1 2 3 3 3 1 2 4 3 2
Q. |41 |42 |43 |44 |45 (46 |47 (48 |49 |50 | 51 |52 |53 |54 |55 |56 (57|58 (59 |60
A 4 2 3 1 1 3 2 2 2 3 2 3 4 1 1 4 2 4 3 1
Q. |61 (62|63 (64|65|[66|67 (68|69 (70|71 72|73 |74|75]|76 (77|78 (79|80
A 1 2 2 4 1 3 2 1 2 2 3 3 1 2 4 2 2 1 3 2
Q. |81 (82|83 |84 (85|86 |87 |88 89|90 (91929394 [95|96 |97 |98 |99 100
A 4 3 4 4 4 3 3 3 4 3 4 4 3 4 4 2 4 4 2 1
Q. |101(102|103(104|105( 106|107 (108|109(110|111|112[113|114|115|116|117|118 (119|120
A 2 3 2 4 3 4 4 1 2 4 1 2 4 4 4 3 2 1 3 4
Q. |121(122|123(124|125(126|127(128|129(130|131|132|133|134|135|136|137|138 (139|140
A 1 3 3 3 2 4 1 4 2 4 3 1 1 3 4 2 2 1 3 2
Q. |141(142|143(144|145(146|147(148|149(150|151|152|153|154| 155|156 157|158 159|160
A 3 4 2 2 4 3 2 3 3 3 2 2 4 3 3 4 3 4 4 2
Q. |161(162|163(164|165( 166|167 (168|169 (170|171|172|173|174|175|176|177|178 (179|180
A 4 4 2 3 3 3 2 2 4 4 4 4 1 4 3 3 2 3 1 3
HINT - SHEET
1. 45
=5 X PV, =225x10°]
144 AQ = AW + dU
I S AQ =30 x 105 joule
lv—s 4
AQ = AW + AU 4 4
A\?V = enclosed Area 2 Qe T - %:(%J - TT :%
2 2 T+
2
= Bx(1+4)x3}x105 =75%x 1057
% increment in energy = QZQ_QI x100
1

3
AU = pCAT = px JRAT [PV, = uRT,]

3 _ 16 _
= JHR(I6T, — T,] = 10—x100 = 400%
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MAJOR TEST

ALLEN TARGET : PRE-MEDICAL 2013 (NEET-UG) 26-03-2013
Zo : 12 20 =>T=~ _LsxI0” 0.025N/
= =>poc = . =20 =>T=7,= = 0.
p- M, TP W= == T 2 (B30x109) m
Py _ P 4T 2 R
R ) 3. C-C=WM,
PV, +PV, PV + PV (Where C,, C,, = gram specific heat)
P = V. = vV 14. Applied maximum load on wire does not depend
P =2P on length of wire
When rate of flow is same then level does not rise 1
2 15. AtT=same =>V__ o [
\% rms Mw
= Av = Ax,/2gh :>h=2—g
W = Area enclosed between curve and V = axis Ny _ (Mo),, V), \/Z ,
(Vrms)He (MO‘))H = (Vrms)Hc B 1 B
T 17.  Heat supplied Q, = Q,, + Q..
P \\ \\ V = Const, Q,, PV
— T, =—20=
\\\\\\ s = pC,dT ATNR O
3 _2R\V, _
W=W +W, =Nx JR@T,-T) |Te="p"=2h
1 2P, x2V,
={—(5+2)x2+1x5}x105 3 To=—"—"=4T,
2 = 2PV : NR
2 0°0
=12x10°J
thrust on body = W, — W, =20 - 16 = 4N 5
IS On DOy = B M 0-16 P = const Q,. = pC dT = N x = (4T, -2T,)
reading of weighting machine P 2
=W+ Th =5P,V,
=40 + 4 = 44N
3 13
U =1C, T+ nuC,, T Q= EPOVO +5PV, = 7P0V0
U, =2x 2RT+4x >RT W s =
- =2x “RT+4x =
mix 2 2 E POVO
=7 x 100% = x 100 = 15%
U . =1IRT 1 EP v
070
v2 =u? + 2gh 2
=(04)? +2x 10 x 0.2 =4.16 20 B A
v =2.04 m/s * v=10m/s v=30m/s
Av, =Ay, frequency heard by observer
7ID2 7tD2 r
= v, v, v +v0}
n' = X
REAR
= D,=D, / =8x10" ‘/04 =3.6x 10° m ~
_ 330+10 }450
E—épv_é— 1330+ 30
T2 20 = 425Hz
5 8x10*x1 21. In phase conversion = T = const., KE = const
E=ox—— = =5x10J V{=IMFT=PE{
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MAJOR TEST

E!;!,:SF.TU! PRE-MEDICAL : ACHIEVER (MAX, MAY, MAZ) & ENTHUSIAST COURSE ||26-03-2013
at upper end 30. Given v =320 m/s
F= f=1m
F me
MT g g T
_ |mgl _ 3v 3x320
= [—&= = [oy v 3x
m \/z‘? n, = 4—{— 1 - 240Hz
_ 5v_5x320 400
= J10x2.5 =5 m/s W= g T
_ d
F=mg 31. —Q=e GAT* = E
dt
E oc r2T*
0.5m
I B (V(1) 1
B, =) (1) 7
v = \/? \/ 10/50 \/ %25 =15 /s 33. AT = constant
m 1/25 = AmT =im,T,
= 1.75 x 1640 = 14.35 x T,
v 330
= _ =T, =200 K
n= 20 2x25%10°2 660Hz (fundamental freq.) U A= 2(‘).2
v 2330 1320HzI™ h i ;/» i 3é(6)0 -
M= 20" 2x25x102 - 1o20HAIN harmonic) —oUm
wave travel in positive x direction , then
v 3x330 ) . y = Asin(ot — kx)
n, = 20 2x25x10°2 =1980Hz(IIT" harmonic) e E_Z_Tt
1 A 60
R, oc — [p, S, T, T, = same] o)
= k=—
99_KAq g, mL R
dt E dt - m:kv=6—gx360=2nx60
8x10* 92x107°
o BT X (100 - 0) . 2n
60 .y = Asin(2n x 60t — %X)
= m =69 x 107 kg
will be more than v = Asin2n(60t — X
y sin27t( 60 )
91 _92 e1 +92 1
= k|/—=-6
t { 27 35. 10>
s/\
> t(s)
61-59 1{61+59_30} L \/
4 YL 2 = 760
T=2
51-49 1 |51+49
= = —30| = t = 6 minute 21
t 60 2 0= — g
T
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A =10

ms

particle start from mid point of mean position &
extreme position, then

oo -1
=102
0 = 60° o \\
0
0 =30°= I A2
; /
eq. of S.H.M. K/
X = Asin(ot + ¢)

= 10sin(nt + —)
= S1n( 7T 6

T/NQ 314 /\

T/4 \/T

3T
(1) at 7 particle at extreme position, so the force

18 not zero.

T
(ii) at ER particle at mean position, so the velocity

1S maximum
(ii1) at T, particle at mean position , so the
acceleration is zero.

T
(iv)at ER particle at mean position, at this instant

P.E. is equal to zero.

k, =3k
1|k
L _27Vm
Bl
2tV m

39.

40.

41.

42.

Suppose maximum amplitude is A.
0 = 45°

AN2 1 /
phase difference = 26 = 90°

cosf = A ﬁ
If smal length pendulum has time period is T then

greater length pendulum has 4T.
Thus, if one complete n cycles.
Than other one n — 1.

n _4
"n-1 1

:>n2=4n—4

4
:>3n=4:>n=§

L
T, = Zn\/é ...(1) (When lift is stationary)

suppose lift is going upward with acceleration a,,
the time period will be T /2,

S ()
2 g+a
From (i)/(ii)

T 271\/?
0 __ V&
Ty /
27

2 \g+a
/ +a
=2= —x8
g /

(squaring both the sides).

g+a
g
=>4g=g+a
= a=3g
maximum reading when N has maximum value
N = mg + ma
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1 1 1
- = —
k, k 2k

_ 2k

= keq_ 3

_ mpm, _rn m

m; +m,
\/7 m/2 /
2k/3
4. =k+k=2k

o ( o

54. P, +30, % , PO,
less availability of oxygen.
55.  Graphite shows different conductivity in different

directions.
HO< o _OH
B
0~ o
58. | I
B B
HO/ \O/ “SOH
60. % ionic character = AXIOO
M rheoritical

1.2x10®esuxcm

= XIOO = 257
4.8x10 " esux1.0x10*cm ’

62. Due to angle strain CCC bond angle = 60°.

/H

(>C
H
So HCH bond angle is higher than 109°28'.
65. More ionic character, more extent of hydration.
86. NCERT XI Part-II, Page # 278 Topic : Hydrogen
87. NCERT XI Part-II, Page # 278 Topic : Hydrogen

88. Fe + HCl — FeCl, change = + 2

Cr2072_ OH_, CrO; change =0

A
NH4®2 change = 3

89.

90.

92.
9.
96.
98.

100.
102.
104.
106.
110.
114.
116.
120.
122,
124.
126.
128.
130.
132.
134.
138.
140.
142.
144.
146.
152.
154.
156.
158.
164.
167.
170.
171.
172.
175.
176.
177.
179.

FeSO,(ag) + NO — [Fe(H ,0);NOISO, charge = 1

In sym. H-bonding, (----H----) both bonds around
H are identical.

Due to very small size, it has strong polarising
power & doesn't exist independently.
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